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27．（1）设AD中点为H连接EH


[image: image16.wmf]EA=EDDEHAD

EADABCDEADABCD=AD

EH

ABCDBCFABCD=BC,CFBC

CFEAD,EAD

EAD

CF

CF

\^

^Ç

\^

^Ç^

\^\ÌË

\

Q

Q

Q

PQ

P

，

为

中

点

平

面

平

面

，

平

面

平

面

平

面

ABCD

平

面

BCF

平

面

，

平

面

平

面

平

面

ABCDEHCFEH

平

面

平

面

平

面


（2）
[image: image17.wmf]3

3


（3）
[image: image18.wmf]10

5



_1530383290.unknown

_1530384083.unknown

_1530384590.unknown

_1530385169.unknown

_1530385423.unknown

_1530385422.unknown

_1530384736.unknown

_1530384106.unknown

_1530383531.unknown

_1530383993.unknown

_1530383381.unknown

_1530383016.unknown

_1530383048.unknown

_1530383260.unknown

_1530383024.unknown

_1530382922.unknown

_1530382953.unknown

_1530382876.unknown

